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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
oS frErTyRe ot S S fa

(a) Write a triangular matrix.

9bl (To&R (Mo fora |

(b) State the condition under which the
production function Q= AK®%IP is a
linearly homogeneous production
function.

Q= AK*IP TeeAve ToB! AR WA
TP T T @RI BELD! BT |
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(c)

(d)

fe)
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The function f is called homothetic if

flx)= fly)= fltx)= f(ty), t>0.
( Write True or False )

E TEI! <A = i
f(x)= fly)= fltx) = f(ty), t>0.

( &) & w1y foan )

Give an example of an implicit function.

G5! TEHiEs Fewe Tnizgd i |

Write an identity matrix of order n.
nIGH GO SR (e @4 |

Economists call Lagrange multiplier j
a

saddle point/shadow price
( saddl int/shad ice )
( Fill in the blank )

ale @0 AT FLNSRETE 3=

Y |
( o R/ =g 7= )
(4R 3R == )

{ Continued )

(9)

(R

(4
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What is the norm of the following
matrix?

e il (Maesnie afeas 6 2392

kgl

q)io
i) -1
(i) 10
(iv) - 10

( Choose the correct answer )

( = Tl IR St )

State mathematically the necessary
condition for equilibrium of a price
discriminating monopoly market.

v [reiiee GFOoR IS Sy R
AW Y@ Mafes e |

If we interchange any two rows or two
columns of a determinant, then its
value remains unchanged.

( Write True or False )

W Q5! 49 7o! =R I 75! TS AepTE= F4l
2, (o8 TWH I G AP e B =i = |

( 7 & =Prey fodt )

{ Turn Over )




i 4]

( 5)
() What is the trace of a skew-symmetric i s
matrix? (d) What will be the solution of the
following  difference  equation by
et (@@owy SR & 237 iterative method?
wore il (ov FNRAER e Aafos
e 6 247

2. Answer the following questions : 2x5=10
Y1:1-0-3y, =0
oo fiml TR T fr

(a) Distinguish between a scalar and a fe) What value must x have so that the
vector. following matrix A does not have an
inverse?
sfies i o A TR S Al T
TS il A (Bl SN F9P AT xF
: ?
(b) Differentiate x* +y? =25 implicitly. o <
l 2+x
wehfRe Fem x*+y? =257 s fNfw A=|:x -1}

BTN

B I32 o 3. Answer the following questions (any fourn :
e or what value of B, A= is a 5x4=20
{c) For what value of B, A i

i o it PR B f (R GRIGH SRDT) -

symmetric matrix?
(a) Find the extreme value of the following
- function :

B3 & 1 AR A{ﬁ 52‘1} @bt TS
2 wors Tl TGRS T fify 4

B+1
Glere 237
Zae" 91 9y°+3
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{ 6 )

() Calculate the 3x3 matrix A =(a;)a3
with a; =2i-j.

A=(a5)e ToewE fdfw Fw AW
a; =2i-j ||

(c) Show that the following function is a

b 5
homogeneous function of degree 5 ¢

WWW@W%WWW{%
@year

s
X -y

fle Y =—7—%
Y) 2 5 72

(d) Using the properties of determinant,
show that

fdftaeq o ot N oAl @

Ll
a b cl=(a-b)b-c)c-a)
a’ bt et
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( Continued )

(v 7 )

(e} For F(y, x)=0, is the following implicit
function defined around the point
[U=3,x =172

Fly, x) =03 I oo it ssfifEe wermnt
(y=3,x=1 RS TEGA?

x3 —2x2y—3xy2 -22=0

() Show that the following function is
continuous but not differentiable at

= 2
wae il TEnl k=2 e SRkfa 5
TN w2 e e

filoey e =il T e i
=2x -3, x=z2

4. Answer the following questions : 10%4=40

oo fual eppryRs Ted il -

(a) A monopolist produces his product in
two different plants and his total cost
functions are given by :

TC, = 20 - 4Q, +%le

TC, = 40-80Q, + 03
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.and maximum profit.

( 8 )

If the average revenue function is given
by » AR=40-0Q where'l0 =0, +03,

then find profit maximizing outputs
S5+5=10

G5 GPEORI (ol 7ol fom ewsre Sesivm
T NNER P I o TH

TC, =20-4Q; +~0f

TCy =40 - 8Q, + Q2

M B Gy T AR=40-Q s
Q=01+0; %, =@ T® e TGP
TS AR Wi T 7 ey <51 |

Or /| @’q

Find the only possible solution to the
problem

Maximize x%y3z subjectto x+y+z=12 10 |

x+y+z=12 ofSTwE @ X2y,
TA0R AT T TGN T
g =11

( Continued )

A3 /T8I

(b) Analyze the following market model for

stability : , 10
wero firyl e SEGHE gRETe FuwT s
Op =105
Qs =-10 +20P
dp
_—= 3 o=
s Uy
Or [/ 93t
Solve the following simple market
model by (i) Cramer’s rule and
‘ 5+5=10

(i) matrix inversion method :

wae frt Aee Imie Wil @) @wEe Rw
wiF (i) AT e Amierd Wi
¥4l .

QD =a-—-bP
QS =—c+dP
Qp =05

(¢) If the cost function of a firm is
(' = L +2K and the production function
is Q= LK, then find the value of L and

K so that 50 units can be produced at
minimum cost.

10
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( 10 )

T @ Tt ofedER W T
C=L+2K OF o Toe) Q =LK =
(9T 50 B A5 R TS Beol A L
WF KT T e 27 e, et |

Or [/ 9«1

A price discriminatin

g firm of monopol
market has the following demz.ng
curves and cost functions. Find the—

(i} profit maximizing outputs;
(ii) profit maximizing prices;
(iii) maximum profit;

(iv] elasticities of demand of the two
price discriminating markets.

4+2+2+2=10

7 RUSTFS G GPOOR T e
RSO DI SRI SAIF G T
S i

(i) A =S SeEpial st ARSI
(i) TEH S AR 7T
(iii) T =S
(iv) AR 7§ Reeagps w9 SifmN
g
P, =60-40Q;
P, =42-30Q,
C=50+120, Q=0Q, +0Q,

( Continued )

(d)
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(11 )

Given the demand and supply function
for the Cobweb model as follows, find
the intertemporal equilibrium price and
determine whether the time path is

convergent or divergent : 10
wore Tl oA Sk v e st
wvﬁm@sﬂmﬁww'@ﬁﬁawww
s sferiaml SRl ¢ s 79, fef
9l
Qpt =18-3F
Qg =—3+ 4P
Oor | &l
5+5=10

golve the following two equations :

wors frl AR o1 A
(i) %—i—+5y=10, y(0)=6

(i) Ypaq +3Ye =2, YO) = 5
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